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{ Fl:FZ:F4:F5:F7:Fs:1

F3:F5:F9=0 (6-7)
MITEARANC2. 100, (21D, BIFDRTEN 15 & 56550 2.

Ox=1 I uzlg—vx

Oy=1 (6.8)
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International Journal for Numerical Methods in Engineering 1,1, (1969), 3 —28.

The Finite-Element Force Method for Solving Plane
Problems of Elasticity
Jiang Wei

(T he Shanghai Institute of [ndustrial Building Design)

Abstract

Using elements in the form of sectors, the author has devised a plan for solving
plane problems of elasticity by the force method. The method is characterized by a
smaller number of nodes,a more convenient computation and a perfect adaptability to the

particular shape of the region in question,



